Kako glasi jednadzba hiperbole b?x? — a?y? = a?b? koja prolazi tockama M
i N:

1) M(-3,v15), N(4,6);
2) M(2v/3,1), N(—4, —/2);
9 20

3 M(5.; ,N(?4);

4) M(-5,1), N(7,-5)?

1)
M(—3,V/15)
N(4,6)

b2x? — a?y? = a’b?

M ... 9b?—15a% = a®b® (1)

N ... 16b? — 36a? — a’p? }_
— 7%+ 218 = 0
b? = 3a?

(1) ... 9-3a% — 1582 = a® - 3a?
2a®=3a" /:3a°
a?=4 — b*=3-4=12

H ...12¢-4y=48 /:4
I -y =12

2)
M(2V/3,1)
N(—4, —V2)
b2 — a?y? = a?b?

M ... 120 — a2 =a%h? (1)

N ... 16b° — 2a° — a2 }_
—4p* +a%=0
a2 = 4b?

(1) ... 12b% — 4b® = 4b” . b?
8b* =4b* /:4p?
=2 — a*=4.2=38

H ...2¢-87°=16 /:2
X2 —4y> =8
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M(s4)
20
N(54)
b2 — a2y? = a?b?
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. %) b? — 16a* = a’b?
- %sz + %az =0
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25b° — 9b 9b
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b?=9 — a2:1—96-9:16

92 — 16y? = 144

M(-5,1)
N(7,-5)
D22 — a?y? — ab?

.. 28b% —a? =a%? (1)
. 490b% — 25a° = a’b?

— 24b% + 24a°> =0
a2 =b?

. 25a° —a?=a?- a2

24a° =a' /:a’
=24 — =24

L 24X 24y =24-24 [ :24

X2 —y? =24





